Geocoding Polygons

raster encoding (runlength encoding)

S

not clear which scan
belongs to given region
A,B,C

Iabel "A" 3 rows
rowl lscan 4,6
row2 1scan 4,6

row3 1scan 4,6
row4 2scans 4,1 73

row5 2scans 4,2 7,3
row6 2scans 4,1 7,3

label Sy 6 rows
rowl 2scans 1,3 12,9
row2 2scans 1,3 13,8
row3 2scans 1,3 14,7
rowd 2scans 1,3 10,11

row5 2scans 1,3 10,11
row6 2scans 1,3 10,11

rowl
row2
row3
Tow4
TOWS
row6

___AAAAAABB _________
__AAAAAABBB____
___AAAAAABBBB___
___ACCAAA
___AACAAA
___ACCAAA
4scans 3 6 2 9
4scans 3 6 3 8
4scans 3 6 4 7
Sscans 3 1 2 3 11
Sscans 3 2 1 3 11
Sscans 3 1 2 3 11
label "B" 3 rows label "C" 3 rows
rowl 1scan 10,2 row4d 1scan 5,2
row2 1scan 10,3 rowS 1scan 6,1
row3 1scan 10,4 row6 1lscan 5,2
generic form

rowk

nscans scanl scan? scan3 ... scan n

where scanl, scan?2, etc.
encoded as pairs :

beginning column, runlength




